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QUESTION 1

In a strategy defined in the "Retention" issue and the "X-Sell" group, you can import
A. propositions from the Sales issue

B. propositions from all groups under the "Retention” issue

C. all propositions from the system

D. propositions from "X-Sell" group

Correct Answer: C

QUESTION 2

In a Set Property component, the Rank value is determined by

A. the order in which the actions are received

B. the data transform

C. the sequence in which it appears on the canvas
D. the default value of the Rank

Correct Answer: D

QUESTION 3

What is the key characteristic that Next-Best-Action must consider to satisfy customer needs?
A. Service

B. Fraud

C. Mobility

D. Relevancy

Correct Answer: A

QUESTION 4
evidence an assessment of its viability, the Adaptive Model produces three outputs: Propensity, Performance and
What is evidence in the context of an Adaptive Model?

A. The likelihood of a statistically similar behavior
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B. The number of customers who exhibited statistically similar behavior
C. The number of statistical bins used to evaluate the response
D. The number of customers who have responded to the modeled offer

Correct Answer: D

QUESTION 5

A Text Analyzer performs natural language processing on a piece of text. It then produces a structured output, which
can be analyzed using reports.

What type of text analysis does the text analyzer perform?
A. Word analysis

B. Word count

C. Classification

D. Cross reference analysis

Correct Answer: C

PEGAPCDS86V1 PDF PEGAPCDS86V1 VCE PEGAPCDS86V1 Exam
Dumps Dumps Questions

PEGAPCDS86V1 PDF Dumps | PEGAPCDS86V1 VCE Dumps | PEGAPCDS86V1 Exam Questions 3/3


https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
http://www.tcpdf.org
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html

